
INSTALLATION MANUAL

32"-55" FLAT SCREEN SLIM FIXED
WALL MOUNT BRACKET 

650320 55kg
(121lbs)
RATED

55kg
(121lbs)
RATED





wall plate (x1) 
 

M5x16 (x4) 
M-A

ST6.3x55 (x4) 
W-A

concrete anchor (x4) 
W-B

D6 washer (x4) 
W-C

M6x14 (x4) 
M-B

M8x20 (x4) 
M-C

M6x30 (x4) 
M-D

M8x30 (x4) 
M-E

washer (x4)
M-F 

small spacer (x8)
M-G 

big spacer (x4)
M-H 

adapter bracket (x2) 
 



1-1

1. 55mm
(2.2")

ø 4.5mm
(ø 3/16")



1-2

1. 60mm
(2.4")

ø 10mm
(ø 3/8")



2.

2-1



2.
2-2



3.


